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Choose the correct answer from a,b,c or d:

1- Harm or injury that results or may result from some action or judgment is
called .............. .

a) pride

b) peace

C) piracy

d) prejudice

2- The teacher used to scold his students severely due to their behavior. The
underlined word “scold” can be replaced by ................

blame
praise
encourage
force

He was so fortunate to have such wonderful teachers. The antonym of the
underlined word “fortunate” is ............... .

a) inevitable
b) unlucky
C) poor

d) blessed
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4- Rana started writing her ................... since she was young. She recorded
all her daily activities and feelings.

a) attitude

b) biography

c) dairy

d) diary

5- She wasn’t chosen for the vacant position in the company as she wasn’t ........
enough.

awarded

inquired

qualified

acquired

The series is very interesting, so the viewers are waiting with ................ to
its end.
a) heavy breath
b) bated breath
c) breathless
d) over breathing

We need to .............. some modifications for some pieces of furniture.
make

do

exert

act
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By this time next week, will .......c.cooviniiiniinnns?
we have got our house painted

we paint our house

our house be painted

be painting our house

The match was cancelled ................ heavy rain.
because

b) owingto

c) nevertheless

d) inspite

10- Which of the following is structurally correct?
a) Were they to play well, they’d have won the match.
b) Had they played well, they’d have won the match.
c) Ifthey play well, they’d win the match.

d) Should they play well, they’d have won the match.

11- She was proud ............... get the first prize.
a) on

b) of

c) to

d) i
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12- My parents never allow ............. to the cinema during exams.
a) go

b) togo

c) togoing

d) going

13- Having ................, the criminal was sent to prison.
a) arresting

b) being arrested

c) been arrested

d) arrested

14- She’s the woman ........... ceeees we have heard so much.
a) about whom

b) for whose

c) who

d) whom

15- Which one of the following sentences must end with an exclamation mark (!)?
a) What is your favourite view here

b) What a lovely view you have here

c) How can you find this view

d) How about finding a lovely view here
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16- Supporting sentences are included in the ............... of the paragraph to
reinforce the topic sentence of the essay.

a) thesis

b) introduction

c) body

d) summary

17- All of the following can be used to write an online profile
EXCEPT..covvvnieninnnn

previous work experience
future dreams and ambitions
current achievements
mutual friends and relatives
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Read the following passage, then choose answer from a,b,c or d:

Jennifer was thinking in her room. She wanted a shelter there since false gossip
about her began circulating at the academy last week. Not that Jennifer had ever been
considered a social butterfly. She preferred to live indirectly through the stories of her
more unashamed friends: late night celebrating, associating with girls, childish tricks.
Still, she had taken to be more by herself than usual since the accusations surfaced and
that thing made her on thin ice. She was up for consideration for the highly popular
Blauvelt Award, a scholarship recognizing “academic integrity and promise.”

A student had given headmaster Jack an anonymous ‘“tip” that Jennifer had
cheated on several tests. The accusations were laughable. Jennifer had long been a
clever student at the academy. She lacked a natural intelligence- this was true.
However, she compensated for this shortage through carefulness and insistence; she
was very thorough in her studies and exhibited an almost relentless determination.
Still, the accusations had given the recommendation committee pause.

On Friday Jennifer had been called to Mr. Jack grand office, where she was asked
copious questions about her recent exams. The experience was quite shocking. It was
an elite school. Most of its students came from honored backgrounds. This was not the
case for Jennifer. Her family had little money. She attended the school on a full
scholarship. The Award would help her family pay for college. So, it was with the
same diligence which she applied to her studies that Jennifer planned to reveal her
accuser.

Choose the correct answer from A, b, c or d:

18- The suitable title of the passage is .......ccceveveeernnnnn. .
a) “Struggling in life to reach your goals”

b) “The School Award”

c) “Cheating at Exams”

d) “Helping Other People”
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19- The Academy was a school .........c.cccue.ee.. .
a) where many kids lied and cheated

b) for abused students

c) with many wealthy students

d) where it was hard to get to know people

20- The best sentence that can summarize the second paragraph is that ............
a) Jennifer won the award

b) strong determination can compensate many things

C) accusing others can be destructive

d) escaping from others is the best thing

21- The award is important to Jennifer because it will .....................

a) prove she is clever

b) help her family pay for college
c) make her parents proud

d) go travel away

22- Being a student at the academy, Jennifer needs to ............cc.o.ee.. .
a) accept what is said about her

b) get away from the other students

c) be persistent and has strong will

d) be rich to stay at the school
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23- If the students continue on accusing Jennifer of cheating, she will.............. .
a) insist on knowing the accuser

b) hit the accuser

c) sleep more and more

d) go on reading novels

24- Jennifer was different than many of her fellows as she .................. .
a) likes to cheat at exams

b) tells false gossip

c) isnotreliable

d) is not wealthy

25- The underlined phrase “on thin ice” implies that Jennifer was ............... .
a) over the moon

b) relaxed and calm

C) patient

d) in a critical situation
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Read the following passage, then choose answer from a,b,c or d:

About 349 million people across 79 countries are facing acute food insecurity — up
from 287 million in 2021. The global community must not fail on its promise to end
hunger and malnutrition by 2030. Many innovations that were once heavily supported
and publicized, such as fish-protein concentrate and protein from algae grown on
petroleum substrates, have fallen by the wayside. The proposals themselves were
technically feasible, but they proved to be economically unviable and to yield food
products culturally unacceptable to their consumers. Recent innovations such as
opaque-2 maize seems promising, but it is too early to predict its ultimate fate.

Despite having extensive governmental support, these unsuccessful innovations
often have not been technologically adapted or culturally acceptable to the people for
whom they had been developed. A successful new technology, therefore, must fit the
entire sociocultural system in which it is to find a place. Security of crop yield,
practicality of storage, taste and costs should be put in consideration. For example, the
better protein quality in bread made from opaque-2 maize will be of only limited
benefit to a family on the margin of subsistence if the new maize is not culturally
acceptable or is more likely to be attacked by insects.

The adoption of new food technologies depends on more than these technical and
cultural considerations; economic factors and governmental policies also strongly
influence the ultimate success of any innovation. Some economists exaggerate in
claiming that profitability is the key factor guiding technical change and disregard the
substantial effects of culture. Most technological innovations in agriculture can be
fully used and adopted only by large landowners in case they believe that the
innovations will increase their incomes even if they harm sectors of the population
and reduce the availability of food in a country.
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Choose the correct answer from a, b, c or d:

26- This passage deals with .........ccccevveneienne. .
a) the practical steps to have food alternatives easily
b) how to have healthy food from opque-2 maize
c) some solutions to the food shortage problem
d) the problem of food shortage in the developing countries

27- Any new crop needs mainly to be ................... to be a successful food
alternative.

a) accepted by people

b) grown by people

¢) technically adopted

d) advertised in media

28- The best sentence that can summarize the last paragraph is ....c.ccceeeeeeee.

a) many new innovations can be adopted by both small and big landowners

b) some economists think that new adoptions should be adopted for people’s sake
c) there are many new solutions for food shortage that can be adopted

d) the adoption of new solutions depends mainly on financial profit

29- To ensure the success of the new innovation in the developing countries,
............... is necessary.

a) building new organisations

b) a wide advertising campaign

c) the governmental support

d) ignoring the scientific research
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30- After reading the passage, we can say that ............ccc.oe.e

a) we have some very successful innovations

b) we are still looking for new innovations

c) the developing countries' innovations must be applied

d) we don't have food shortage problem with the new innovations

31- According to the passage, opaque-2 maize ........ccceeeeneenns
a) is only suitable for the developed countries

b) can only solve the world food shortage

¢) has been adopted by many countries

d) can be attacked by insects easily

32- The writer thinks that before the innovation of new crops, we should know
a) both of the profitability and the cultural effect are very important

b) the profitability is the main key factor guiding the technological change

c) the new changes need the governmental support to the small landowners

d) the new innovations can be applied on condition that they don't harm people

33- According to the passage, fish-protein concentrate ..................
a) isn't supported by many governments

b) is culturally accepted and supported

c) is an unsuccessful solution to food lack problem

d) isn't healthy and causes many diseases
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34- Choose the correct Arabic translation:

Modern culture and civilization greatly depend on science and technology. They
have become an essential part of life according to the requirements of people and

their needs.
Ll 12 3o chnpal ails Za ol 6l glall e S IS0 Al 5 jlcaal) g 2808 adias (|
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35- Choose the correct Arabic translation:

The importance of charitable organisations lies in helping poor and needy
people. Charities do an excellent job as they work all over the world.
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36—7Choose the correct English translation:
Uik g ol Se g Bagae ) gal il raal) LgilSa b W gaadic of Abila <l jad (ulil) (e dyaad) elbiag
Al s oA Adal) ax8il) gad U pug
a) Many people have great disabilities. If we had used them in their proper place, our

homeland will have risen, and we will have moved towards the real progress that we
seek.

b) A lot of people have great abilities. If they had used them in their proper place,
our homeland would have risen, and we would have moved towards the real progress
that we seek.

c) Many people have great abilities. If we had used them in their write place, our
homeland would have stood, and we would have moved toward the real progress that
we seek.

d) A lot of people have great abilities. If they had used them in their proper place,
our land would have got up, and we would have moved toward the real progress that
we seek.

37- Choose the correct English translation:

a2l Y gla ) gany K1) gaaty (o agulad ABUall (ha Bata jgua okl Jal (e (gladll ) o cay
S8l ekl o Qi) SIS g (o ) ad) ulgtial) Jia 3 il Y
a) Countries must cooperate to evolve new images of energy. They must unit to find

solutions to reduce harmful effects such as global warning and overcome fuel
shortage.

b) Countries must cooperate to evolve new forms of energy. They must unit to find
solutions to reduce harmful affects such as global warming and overcome fuel
shortage.

c) Countries need to cooperate to develop new images of energy. They must unite to
flhnd solutions to reduce harmful defects such as global warning and overcome fuel
shortage.

d) Countries need to cooperate to develop new forms of energy. They must unite to
flhnd solutions to reduce harmful effects such as global warming and overcome fuel
shortage.
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38- If Miss Havisham’s fiancé hadn’t deceived her, how do you think her life
would have been?

Support your answer with two justifications.

39- Pip and Magwitch proved that they had human feelings.

Explain with evidence.

40- Write an essay of about 180 words on “A visit to a place that you will never
forget.”
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